The apostle Paul discusses
his struggle with sin. What does he say?
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Guide Paul through the maze to complete the passage below.
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Paul describes the struggle between wanting to Paul finds that good and evil are both there

do the right thing and at the same time choosing the with him. But he does delight in God’s laws.
wrong. What does he go on to say? What else does the passage say?
Starting at the bottom right, read right to left and bottom to top, Add the numbers from the row and column
filling in the blanks below, left to right and top to bottom. to find the letter to fill in the blanks.
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